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�ù¼¨°ttæ 2006/4/1 ,˜ 9:00-11:00

1. q (1 + x + x2)n = a0 + a1x + · · ·+ a2nx
2n, w2 a0, a1, · · · Ñ[b�

„ a0 + a3 + a6 + · · · = a1 + a4 + a7 + · · · = a2 + a5 + a8 + · · · = 3n−1�

2. q O(0, 0), A(0, 6), B(5, 10), P (−15, 0) Ñ xy-�Þ,5ûõ� J L Ñ

¬õ P 5ò(, / L ø 4OAB }AÞ	ó�5s¶M, ° L 5j˙��

3. J‘„, ùå, Ó“��

(a) JsA“, �Ìb“�Ÿn}�Š�

(b) Û�úAø–“� (úAø–|�)� JsA�øA, †�6ùA./

“� JøA�ùA, ¤A�|� ½�Ìb“�Ÿ, n?�ß�øA�|�

4. q A Ñ 3× 3 5j³� úLS ~u, ~v ∈ R
3 Ì� |A~u× A~v| = |~u× ~v|�

(1) q ~u, ~v, ~w ∈ R
3 �ó�ò/Å�Ñ 1� „p A~u×A~v, A~u×A~w 6

u�ó�ò/Å�Ñ 1�

(2) „p: |A~u| = |~u| úF� ~u ∈ R
3 ÌA
�



Å
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�ù¼¨°ttæ 2006/4/1 -˜ 2:00-4:00

1. q f(x) = x3 + 2x2 − 3x − 1, g(x) = x4 + 3x3 − x2 − 5x + 2, / α,

β, γ Ñ f(x) = 0 5 3 ;�

(1) t° g(α) · g(β) · g(γ) 5M�

(2) t°
1

g(α)
+

1

g(β)
+

1

g(γ)
5M�

2. q E1, E2, E3 Ñ˛È2ú_�Þ, /·¦¬Ÿõ O� ˛ø E1 ¸ E2 �ó

�ò� E1 ¸ E3 HiÑ 60◦� E2 ¸ E3 Hi6u 60◦� q L Ñ¬Ÿõ5

ò(� J L ¸ E1 5HiÑ 30◦, 7 L ¸ E2 5Hi6u 30◦, t° L D

E3 5HiÑS?

3. à 7 �æH+Ê£ýÞñí 6 _Þ,, .°Þà.°æH�

(1) t½ª+A��£ýÞñ?

(2) J©_Þà¤ 7 �æHyå,å‚ O, å‚ O FàæHD�H.°,

/.°Þí O à.°æH, t½���£ýÞñ?

4. q N0 [ýF�ÝŠcbíÕ¯� cqúF� m, n ∈ N0, ƒb f : N0 −→

N0 Å— f(m + n)− f(m)− f(n) = 0 C 1, / f(8888) = 2222�

(1) t} k − 1 ≥ f(

k∑

i=1

ni)−

k∑

i=1

f(ni) ≥ 0,

(2) ° f(4),

(3) ° f(2006)�
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